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AFd, FRIZHEOPHD E Lk, BEOLTITEWEZLET,
(BARRRE A I N2 721E, 2020 4E 11 A 14 HYBBIC TETIEL 2 e ZE L 230, )

p.14 TSample Question(MC2 (/&) OREX 1 47H (2020 4F 11 A 14 HTRETIER)
%2 by more than $20billions from the year

1IE by more than $10billions from the year

p.14 TSample Question(MC2 [f/&)] D 1 17H. 317H (2020 4F 11 A 14 HRTETIEF)
2 $20billions(1 A E V)
1IE  $10billions(1 A€ VY)

p.29 Tlk) O 1 47H (2021 45 10 A 28 HEKTETIEH)
B 2O EOHFLFEOREIOBBEERETH LMD TIE
E 2O EOEELZFEDOARZIOBREZRIM SO TIX

p.35 THUE—M ] DOIEHEE (2021 4E 10 H 28 HIK TRTIER)
R row: 17, MEdE TS,
E row: T, MM (A— Dz 151H, 25IH, - LA B25EE row 25 ),

p.35 [H¥—#] DOIEHEE (2021 4F 10 H 28 HAK TETIEF)
2 column: 7, BIO (F— L DfExz 15H, 25H, - L8Z D),
IE  column: 5, #Eli0r,

pAl T8 OHAREDE & dFBOUREE 1 17H (2020 4 10 H 20 HCITER)
B ORES S DOHMATERNE X3, FORENED n U
E BEPESPOYRINRTERNEZE, FTREINSE n T

D45 TSRFR ARG 2(MO2 FR) | ORI (J02) UK (2021 4 10 A 28 FBCITER)



a + b s an even integer.
a + b is an even integer.
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o p.AG [SREILRERIE 2(MC2 FIME) ) DS 1 /7 H (2021 48 10 H 28 HRCCITER)
TR & 70 BB R A 2 CORIZZ TR S 70,
TP D EAEA LT B I 2 ORI T AUEE S 7200,
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o p.47 TZHEF-CHRE 2(MC1 M) OfEs 4 177H (2020 4 9 A 24 HiR TETIEH)
By D201 ABD L,
E 2,y,2D22ENRT1THB L,

e p.b7 [HBC-IGHME 1(QC M) O 2 17H (2020 4£ 9 H 24 HER CETIEH)
B2 Df%5%802,4,6,8.10
E 205 2,4,6,8,10

o p.57 THYE-IGAIFE 3(MCL )] O T2 5 2 17H (2020 4 10 A 20 HAR TRTIEH)
Bt =21x3xm=25x3xp=(22x3x¢q3xp
)3

E nd=22x3'xm=20x33xp=(22x3x¢q

o p.74 TERRAKE - B/NAREE OHARIHD £ & OBRRKANE - BN DO KD S 2(3
DOBDEE) OEMAH 1 47H (2020 4E 10 H 20 HIKTFTIESF)
BR24 & 36 & 54 ODBRRKAWE - BN ERD B,
IE 24 & 36 & 48 DERARAHE - BNAREEE KD S,

o p.80 TERANKIEL - BUNARFE-EERERE 2(MC1 )] oRMESC (HAGER)2 17H (2021 4
1 H 11 HRKTETIER)
ROl EECEEKC LR WEIWAT
E HzeJmEicLRnwgIh T

o p.89 IMHEE - AR-FEERE 4(QC &) O TH 5 217H (2021 4 1 A 11 HARTHTIE
)
B o=z 2THITYNLZDT
E z=MF2THLYNnsDT

o .90 [MEE - APECISRIE 1(QC FIE) ) OB TFH7S 4478 (2020 4 11 H 14 HICHIE
%)



2 (6x3)x4=4Rb2L4THZL2/RE5DT, Quantity B=2 &£7225,
(6x3)+-4=18+4=4.5,7%%5DT, Quantity B=5 £725,

Ho%

p.90 TMEE - AH-ICHME 1(QC M) | DS N2 247H (2020 4F 11 H 14 HARTHTIE
)

2 Quantity A(=0) <Quantity B(=2) & 72 »HHEE L\ DT,

IE  Quantity A(=0) <Quantity B(=5) &2 252D HEE LR WD T,

p.91 TfH% - 285 RE 2(MCL ) ) ORI (HAEF)L7H (2020 4E 12 H 28 H
i TRTIEH)

B OROBEIURD —D Z IR\ TAEEK

E ROBEREO—DZBRWIEZLTHER

p.96 [3HEfEd 2 #-FEAERTE 2(MC1 &) OMEX (HAFER)L17H (2021 4 1 H 11 HIK
TRTIEF)

B OERETS 6 MHOFHDIZENT

IE EEET 5 6 HOAFEIZEWT

p.100 T4 0 -fEsRRE 2) Offdi B2 5 117H (2021 45 1 A 11 HAK TRTIEF)
BOITRYEHNEOFAE] @ 2. DX —VITHY,
E RO EHEOFHE] O 20D/ —ITHHY,

p.104 [0 -EfRE 3(MCL )] o 5 17H (p.104 © 1 17H)(2020 4£ 9 H 24 HAk
TRIIEF)
R ooy=mz+)nz+T)=m22+Tmz+nz+7=z(mz+Tm+n)+7,7%3

E zy=(mz+1)(nz+7) =mnz>+Tmz+nz+7=z(mnz+Tm+n)+7 &7%5

p.104 T[40 -FEEERRE 3(MC1 RIE) | o#fife 12 /7H (p.104 @ 8 /7H)(2020 4£ 11 H 14 H
I CETIERS)

S b#&—%ﬁ%bﬁl?%m

E L2L. L 3Ron2Thy.

I\

p.106 TR O-JSAME 1(MC1 &) Of#di 4 17H (p.106 @ 3 17H)(2020 4£ 9 A 24 HIK
TRTIEH)

S GRAERUA
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120 [H%S RS 2(MC1 FIRE) | ot 3 /7H (2021 48 1 A 11 AT IER)
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E = 12 - 12
StTsrr to

p.121 TG HRE 3(MCL )] Offsi T2 5 247H (2021 4 1 H 11 HIR TETEF)

= Sr — 4y . dr — 4y _ br—4y
T 3y+5(2z—y) —3y+10z—5y 10z — 8y
5x — 4y _ dr—4y

H

T 3y+10r—5y 10z — 8y

p.121 - HEE 3(MCL [ME) ] OfEsi N6 2 47H (2020 4 10 H 20 HiR TETIEF)
_ eyl 1
250 —47) " 2
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p.124 T3#-iaFHME 8(NE RE) ] ORME (3E3X)2 17H (2021 4 10 A 28 HAR TETIEF)
72  what friction of the group speaks Chinese?

1IF  what fraction of the group speaks Chinese?

p.136 [HEB-ZEAERTRE 6(QC )| DFFERLAT (2020 4 9 H 24 HIK TRTIEH)
2 Quantity A(=6) > 0 >Quantity B(= 0.6) #3517 L
IE  Quantity A(= 6) >Quantity B(= 0.6) 237 L

p.137 THEE-ELEERE 9(MC1 M) ) DR (£30)1 47H (2020 45 10 H 1 Hi TETIEF)
B 2kl p ok okl —oky NI T B L &, 2 DfEIFW L DH?
IEIf 2k—1 4 2k — 9k+1 — 92ky what is the value of x?

p.138 [HEE-FEAERTE 9(MC1 R#E) | ORTESC (f#3)1 17H (2020 4 10 A 1 HAiR TETIEF)
BOIf 2kl 4 2k — 2k+1 = 2ky what is the value of x?
E 2kt p ok _oktl — oky NI T B L & o DEIFV L DA?

p.140 TS0 IS RS 2(QC )| O 5 47 H (2020 48 9 A 24 HBCATER)
B OHAFELELDIHLEBD,
E HARHEOELDIHELED,



p.141 THE#-GHME 3(QC M) Dffdi 1 17H (2020 4£ 9 H 24 HAK TETIEH)
B OZNRIASOAUED 1 =20 Li#EZ D
E Zhizhizs=oa0%21=20#x3%

p.141 THEH-GAHE 3(QC M) Offdi 2 47H (2021 4£ 1 A 11 HAK TETIER)
B O2TT427TS ] = 2x27T>() = 2! x277 > 20
F 27742751 < 2x27>1 < 21 x27%> 20

p.142 THEE-IGHBE 5(QC &) OfEdt 4 17H (2020 48 11 H 14 HATETIEF)
R O=108x(01)""x2"=2"x 10" =128 x 1071°
E =108x(0.1)"x2"=2"x 10715 =128 x 10715

p.147 T ROEHAL] OffikRi&1T (2021 4 10 A 28 HAR TETIEF)

1 (V7 + V6) _ WVTHVE)
Y YA Y T S A
I 1 (V7 +V6) :(\ﬁ_’_\/é):\ﬁ—l—\/é

V-6 T (V- Ve(WT+VE) T T6

p.148 TR OFFRALIT (2021 4F 1 H 11 HIKCTRTIER)
R —16(=1x) D 4 FIRFELR,
E —16(= ) ® 4 FRIFFEL IR,

p.152 TH-FERERTE 1(QC )] Ok 1 47H (2021 4F 1 A 11 HAR TETIEF)
R Quantity A IZFEHRODFHENTE LD T
I Quantity A X FARDFENRTESDT

p.160 TR MG 6(MCL I8 ) RIS (F530)1 47 H (2020 4 10 H 1 HERCATER)
iR If \/pis an integer
1IE If p is an integer

p.160 TR 6(MCL R ) RIS (301 47 H (2020 4F 10 A 1 FRCETER)
= /p AT
E p Al

p.160 THLSMIE 6(MC1 i) ) ORI 2 47H (2020 4 11 A 14 BT IER)



RO ENBNRTES, plIEDISBREBHTHLME I LENTE, ¢ 1 FEHBRDT gl
+27 x 35(r, s [ FMEH) L RTI LN TES,

F CHERBOETEDS, % £27"x 35 Bk, =27 x3¥ 2 R5DT,
0<2r<3,0<2s<2THBIENNM5,

p 175 [N AT 3(MCL 7)) oIS (HARESR) H (2021 48 1 A 11 KT
E5)

B OHEMN36ERBEEIIBBDIINLDDNDH BT

IE FEA36 25 E5BBDIFVWL DHBEH0?

p.177 [N AR 6(NE [8) ] O (HAGER)147H (2021 4£ 1 A 11 HIKCETIE
%)

BmONETIZBWT, 1 DM EoERT AHiD EOfRIX,

E /NUZBWT, 1 DM Lok s 2D EfRIE,

p.178 /NG 7(NE @)1 Ofgsh 7 17H (2020 4 10 H 1 HIR TETIEHY)
B e abDixE
F e a<bDt &

p.186 [FE#- i HAME 2(QC ME)l Of##i 2 177H (2020 4 11 A 14 HAR TETIEH)
BBO2FELTL X0/ L RAMHEIL. TTOEDMIEIZNE 25D T,
E 2FLT1 X0/ RAMEIE. TTOEOHIEIX 1 X D/NXLBREDT,

p.189 TEEE-IGHME 5(MC @) OffEi 6 17H (2020 4 11 A 14 HiR TETIEFY)
R (5,13,2),(-5,17,-2),(10,14,1), (—10,11, —1)
E (513,2),(-5,17,-2),(10,14,1),(-10,16, —1)

p.192 T[] OfEE TS 247H (2021 48 1 A 11 HARTET IEF)
B OLOMED, KODELRDHIFLATDOED,
E EOK&ED, KDBEIIILLTO@ED,

p.193 [H-FEZRRTRE 3) DM (B)(2021 48 10 A 28 HAR TETIER)
2  What is the result if the ration 3 : 5
IE What is the result if the ratio 3 : 5

p.203 THeJsFRIEE 1(QC M) | DS R4S 3 47H (2021 48 1 H 11 AT ER)



BTN T 2HRD BT DR Z B TE
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p.206 TSRS 5(MC1 FIE)) ORI (HAER)LFH (2021 4 1 H 11 HETITE

B OIHIIFOEEL IS E 12HANBE Z N TE S,
F 1HZFOEHEZD IO 12ANDEZ ENTE S,

p.209 [Hb-ptARE 8(MC1 )1 Ofifdi p.209 d 1 47H (2020 4 10 A 26 HAK CTETIEF)
BRI 200KEEDOELELVOERITICETIAEZTHE, UTOMED,
E T3¢, 2200KE%2HbEEEZOERICETEREZTTSE, UTO@ED,

p.219 T4 SRR 5(QC )| ORE (HABEF)L FH (2021 £ 1 H 11 AT
)

B OHD57 71 FOXULLHENE $600 255k L Tz,

IE H57 74 MR ULLETIE $600 25K L Tz,

p.224 TEAELHME 3(QC M&E)J ® Quantity A(2020 4 10 A 26 HIKTET EH)
#2  The percent change in the toltal number

1IE  The percent change in the total number

p.297 A% OMREE-FEEME 1(QC [ME)) of#di 1 17H. 217H (2 f4ifr) (2021 4£ 10 H
28 HIK TRTIEH)
B o>z

F x>y

p.297 [TAEARDOfFEE-FMERME 1(QC M) offdi 3 17H (2 f4HT)(2021 4 10 H 28 HAKT
FTIEH)
R o<z

F z<y

p.304 [ ARZR DM -G R 5(MC2 FE) ) O3 F 5 347H (2020 4 10 A 5 HIET
FTIEH)

32 O[C| ERED, —T<ay<0&D z#0,y#Thb,

E [C] Rk, —T<ay<0&D 2#£0,y#0Th5,



e p.310 [ f-SEAERTE 3(MC2 @)1 OfiEah 6 17H (2020 4F 10 A 5 HETATIER)
B oe 2w+ 12< = 2r < —12 <— < —6 DHF
F e 2x+12<0 < 2 < —-12 < z < —6 DHF

o D317 THEEY M- SERERIEE 3(MC1 FIRH) ) OMEBIT 25 247 H (2020 47 12 H 28 HECATE
)
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o p.317 TEEEMR-JEAERHE 3(MC1 Hi#) ] DffFimRi&1T (2020 410 A 1 HKTETIERY)
ROEoT. BRIIODERS,
E EoT, HRAEDL A5,

o 335 R SLRERTE 6(MC1 FIE)) DM 4 17H (2020 4 9 H 24 FRCHTER)
B V@12 + - (-3)2=5=
E VE-492+y-(-3)=5=

o p.341 TS HRE 3(QC ME) ] O T2 5 317H (2020 4£ 9 A 24 HAR TRTIER)
2 HBEOFRER 360 > 361 IHLTHDT
E HmEOAZER 360 < 361 KT BDT

o

o p.342 [JEEERA- IS 4(QC ME) ] O~ 5 247H (2020 4£ 9 H 24 HiR TETIEF)
22 Quantity A(= —2) >Quantity B—/5 = —2.23---
F  Quantity A(= —2) >Quantity B(= —v/5 = —2.23---)

o p.342 TR MI-IE HRTEE 5(MC1 )| ORI (#30)1 47H (2020 4 10 H 26 HAKTET
1EF)
#2 If p # ¢ and the slope of the line passing throught points
IE If p # q and the slope of the line passing through points

o p.374 T=MIP- A 3(QC M) DfFE 45 317H (2020 4 10 H 8 HIR TETEH)
R (QuantityB) =z+w=z+(c+d)=(a+c¢)+d=180+d
IE (QuantityB) =z4+w=z+4(c+d)=(2+¢)+d=180+4d

o p.403 TPUfIE-EERERE 6(MC1 M) ) FRESC (330)2 47 H (2021 4E 10 A 28 HiR TRIIEH)

2  What is the area, in square inches,



IE What is the area, in square feet,

p.A03 T PUfly - SERERIE 6(MC1 ) ) P (HAEF)2 47 H (2021 4 10 A 28 HACTHT
)

BOPSAVFTRTEVL S5

E FHT 4= FTRT LWL S5

p.403 VU B SLRERIEE 6(MC1 )| O 117 H (2021 48 4 A 26 HELTITER)
= OMBE OB
E HBoRRE

p.A39 TFI-it MM A(MC1 )| OFEBLT A5 2 47H (2020 £ 11 A 21 FHCCHT EH)
2
Bos=mi=n(S)=I5=C

o) T 4Ax? T 4rm
2 g>2_w02_02
E S=mr _W(27r  4n? Ar

p.A56 T SAA-JS IR 3(MCL FIE) ) OIS (3630)3 7 H (2020 4 10 A 20 HELTATER)
2% ases when the closed crate rests

IE  bases when the closed crate rests

p.467 T5E O-MERME 4] ORMESC (3£30)2 17H (2020 4F 10 A 7 HTRET IEF)
#2 and te Company B
1IE  and the Company B

p.479 T5EOH- A 2(QC M) OMEX (330)1 47H (2021 4 10 H 28 HiRTAT
iEH)
72 so that each person receivers at least one coin.

1E  so that each person receives at least one coin.

p.479 56 0- s 2(QC )] Offdt 2 417H (2020 4£ 10 A 7 HIK TETIEH)
BT 3SHAEDaS v EZITES LS a1 v DELY ]
IE TEED WP EDIaA VEZITMS B WE 52314 VDD F

pASO AR HRIE 3 (QC )| ORI (¥30)3 7FH (2021 4 1 H 11 HERTITE
%)

$2 distributed among 8 student if no



1IE distributed among 8 students if no

p.493 TR JEHERIE 7(MC1 )] O 4 17H (2021 48 10 H 28 HIKTEIIEH)
B 3120V Tik, 2200% 1 auDER
F @iz2nTiX, 220% 1 aa0HD

1 E
=R R 1
6
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33

p.498 THEsE-jis F IR 6(MC1 FIRE) | R (353¢) i (2020 4F 10 A 7 B CTETIER)
B2 @009 ® (0092 ©1-(0092 O 091)2 @ 1-(0.91)"
E @009 @ (009 ©1-(009% @09 @ 1-(091)"

p.534 TG-S HFE 4(QC RIE) ] ORI (3X) @ 2 17H (2020 4 10 H 8 HAKT
FTIEHY)
$2 into 7 intervals.

1IF  into & intervals.

p.534 THLDAHR-IS AR A(QC M) DRE (W3 o 147 (2020 4 10 A 8 HAKT
FTIER)

B 7TODKEIIC S M- TR

E 8 OOKMIZZ V=741 L

p.b50 TEA-fERME 3] OME (HAGER) @ 317H (2021 48 10 A 28 HAK TETIEHY)
BOMARICRERZHTARDOL A NS X fEEH?
B HMiARIZIEEZHTATOL AN T 3T fEEH?

p.553 TEEA-FLAEME 2(QC M#E) ) Offdio 2 47H (2020 4 11 A 23 HIK TETIEF)
ROELT, 2+y+25+25=70 < z+y=20(<= z=20—y) EHWVT,
E ZLT, 24y+25+25=70 < 2+y=20(< y=20—2) 2T,

p.553 THEE-FLHERIRE 2(QC M) OMFio 4478 (2020 4 11 A 23 HIR TETIEF)
B (AN EEORR) =25 +y=25+(20—y) =45 —y <50 (.- y>0)
E (MaMESomr) =25 +y=25+(20—2)=45—-2 <50 (. 2 >0)
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e p.558 [EG-JSHME 4(MC2 )1 OfFiad 2 47H (2021 48 10 A 28 HIK TETIEHY)
BROITAVHEA—PRIITAVI I I VAIVv Y aVEMADVWTVWAREREEL L THIZ
(=
E I73VE4A—=PMIT4V I I VAIvYarvEfADO0TVWEEERDADRLITBHIC
=

e p.558 RG-S HME 4(MC2 )] OfEia 547H (2021 48 10 A 28 HIK TETIEFY)
B O Fh ITAVEA—PINYTAVI NI VAI YTV aVYE@ADVWTWEEERD DL
ERS S
F T/ 73V A =M T4V VAIyvarviliionTnWadlzRd %<7
5%,

e p.566 TBEE DEEARFIHD X & HAMBKDEMA&H 1(2020 48 10 H 20 HITETIEF)
RO flyy=ve+4
E flx)=vz+4

o p.584 [HFI- AR 5(MC1 R#H)] OO p.584 @ 2 47H (2020 4 10 A 28 HARTET

)
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